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978 + 883 =
57+ 93 =
855 4 173 =
685 + 874 =
620 + 217 =
595 + 697 =
653 + 402 =
830 + 521 =
507 + 958 =
274 + 922 =
28+ 372 =
326 + 929 =
913 + 905 =
573 + 181 =
24 + 180 =
139 + 522 =
526 + 690 =
915 + 456 =
752 + 537 =
781+ 372 =

Addition up to 1000 #2
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970 + 869 =
86 + 369 =

753 + 828 =
315 4 257 =
621 + 36 =

162 + 441 =
822 + 740 =
972 + 380 =
455 + 514 =
36 + 891 =

476 + 954 =
389 + 433 =
538 + 168 =
241 4236 =
332 4+ 177 =
522 + 368 =
573 + 186 =
815 + 424 =
928 + 930 =
808 + 607 =
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Addition up to 1000 #2 (Solutions)

978 4+ 883 = 1861
b7+ 93 =150
855 + 173 = 1028
685 4 874 = 1559
620 4 217 = 837
595 4 697 = 1292
653 + 402 = 1055
880 + 521 = 1401
Ho7 4+ 958 = 1515
2744922 = 1196
28 + 372 = 400
3260 + 929 = 1255
913 + 905 = 1818
573+ 181 =754
24 4180 = 204
139 + 522 = 661
526 + 690 = 1216
915 4+ 456 = 1371
752 + 537 = 1289
781 4+ 372 = 1153
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970 4+ 869 = 1839
86 + 369 = 455
753 4 828 = 1581
315 4+ 257 = 572
621 4 36 = 657
162 4441 = 603
822 4+ 740 = 1562
972 4+ 380 = 1352
455 + 514 = 969
36 + 891 = 927
476 + 954 = 1430
389 + 433 = 822
538 4 168 = 706
241 4 236 =477
332 4+ 177 = 509
522 4 368 = 890
573 + 186 = 759
815 + 424 = 1239
928 4+ 930 = 1858
808 + 607 = 1415



